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e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer script during this period.
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General Instructions :

(i) This question paper contains three parts A, B and C.

(i)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.
(iv) All parts of the questions should be attempted at one place.
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(FETHHRT WIS, AIEEH GHI T Hrafat % fore ariss)

(Aécounting for Not-For-Profit Organisations, Pai"tnership Firms and Companies)

ST TR R T U W T b Rpw 3T T S g § 2

For which share of Goodwill a partner is entitled at the time of his retirement ?

T TSR W §HT ST YR 0 §A™ ST aret foie et =6t 9 saRy |

Name the financial statement prepared by a Not-For-Profit Organisation on accrual
basis.

gl SR ¥ Y ok HOTTAT S UME I His Toh W Sz |

Give any one advantage for the redemption of debentures by purchase in the open
market ?

U WEER 5T & T Aarsit & wicafns % favw § and wee sftrm & et 6
IoiE HIWT |

State the provisions of Indian Partnership Act regarding the payment of remuneration
to a partner for the services rendered.

T FH ¥ [T & T ot STasd oot Hi |

State any two occasions on which a firm can be reconstituted.

- S e, e fer. ® 2 10,00,000 F a7 & T FRAT 1 9 TR S 10% 1 T & o,
T A% F R FRAT T | A TR H P T 10 T & wEen e, 5 10% & 9

W it femam e, o g TR

S for. &t qeaehl # emavae st wfafedt St |

Jain Ltd. purchased Building for ¥ 10,00,000 from Gupta Ltd. 10% of the payable
amount was paid by a cheque drawn in favour of Gupta Ltd. The balance was paid by
issue of Equity Shares of ¥ 10 each at a discount of 10%.

Pass necessary Journal Entries in the books of Jain Ltd.

ARET A f. 3 % 100 W=&F & 7500, 12% FOTE, o T 35 WAE % wiifvan w it
HET 1, & AT 3mag st fp | ol Wit &1 ST STesT W SRl o |

FeT 10,000 FOTET o foTT ST AT §T 1 2500 FO9HT F fAT smasA &t ® F K wew
T AT R MW F L S | AT SASHT Y HOTTA 1 A6 HL {1 740 |

ST ST % FeAu TRrer et fer. st qent & Aot whaftedt sifsg |

Narain Laxmi Ltd. invited applications for issuing 7500, 12% Debentures of ¥ 100
each at a premium of ¥ 35 per Debenture. The full amount was payable on apphcatlon
Apphcatlons were received for 10,000 Debentures. Applications for 2500 Debentures

were rejected and the application money was refunded. Debentures were allotted to
the remaining applicants,.

Pass necessary Journal Entries for the above transactions in the books of Narain
Laxmi Ltd.
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frafefea g & 31-5-2011 H A T 99 % ol o= @ U 3 i, 37 FF @i |
3{fFd T & T, TR HIT |

a9 2010-2011 & W 9= % 3,40,000
31-3-2011 St 3&T T=T T 47,000
31-3-2011 %t 1fm v == T 35,000
1-4-2010 I 377w =1 T 28,000
1-4-2010 St 3= WG T=T T 25,000

From the following information, calculate the amount of income from subscriptions
to be shown in the Income and Expenditure Account for the year ended 31-3-2011 :

Subscriptions received during the year 2010-2011 T 3,40,000
Subscriptions outstanding as on 31-3-2011 * ¥ 47,000
Subscriptions received in advance as on 31-3-2011 T 35,000
Subscriptions outstanding as on 1-4-2010 - ¥ 28,000
Subscriptions received in advance as on 1-4-2010 + T 25,000

IS, S T A5 TR § S o B A 1405 ¢ 6 % IO H fonfea & §
ﬁwmmw%mmwm%aﬁq%wﬁw% | T T el

AT % 2 G % T & SR W fwar ST & Feeent oA fiee diF wrelt & e o
W P S ¢ | e A7 a6t & @ SHE 50,000, T 55,000 T T 60,000 § | WHH &
T 3 FE H GERT AW 30,000 MMH & | wH B QR W @A H ged Twe 9 &
% 75,000 3 & | T F YAH U F AL P G FH B T a9 B A T 1,00,000 F
T OIS B REe g @ A § @t o QETEST a1 o faaRer @ sreavas
Tt wfaftedt ST |

Arjun, Bhim and Nakul are partners sharing profits & losses in the ratioof 14 : 5 : 6
respectively. Bhim retires and surrenders his 5/25™ share in favour of Arjun. The
goodwill of the firm is valued at 2 years purchase of super profits based on average
profits of last 3.years. The profits for the last 3 years are ¥ 50,000, ¥ 55,000 &
¥ 60,000 respectively. The normal profits for the similar firm are ¥ 30,000. Goodwill
already appears in the books of the firm at ¥ 75,000. The profit for the first year after
Bhim’s retirement was ¥ 1,00,000. Give the necessary Journal Entries to adjust
Goodwill and distribute profits showing your workings.

vt T 3 S T 100 UAF F 750, 12% RO & WA P fuig T 1w 3 500

HOTGAT T T 94 WA FOTTH H T/ GA IR | fFAr | 9 ot o o o W |

foram T | ST T T OF W B T SESH ST TEehl § e @ At gen ¥ |
IRIFT Al % FAT AT S Tl § v A wiaftesi Sk |

Shakti Ltd decided to redeem its 750, 12% Debentures of ¥ 100 each. The company

“purchased 500 Debentures at I 94 per Debenture from the open market. The

67/1/3

remaining debentures were redeemed out of profits. The company had already made
a provision for Debenture Redemptiont Reserve in its books.

Pass necessary Journal Entries in the books of the company for the above
transactions. .
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11.

12.

13. & T ‘@ TH FH &F 3 : 2 U F GERR & 1 31-3-2011 & wH * fefa foazo
YR &1 .
31-03-2011 Ft ‘P’ 7T ‘@ 1 fexfa faawor
Lcifl 2,40,000
“F 3,00,000 TR 1,75,000
@ 2,00,000| 5,00,000 | F=/R 80,000
fafir= e _R 1,17,000 75,000
g 47,000
6,17,000 6,17,000
1-4-2011 i FH T TEIIH & 1 71 il Ud SARINET S FRAROT AR ge
() TRRI T YT B AW IO I WET o forar |
(i) HHER B W N IR Yo B 5% FH W AHR A B A o |
67/1/3 4

FEOT AT SRIST U H | WIBIGR & ST 5 : 3 % A § o died & | 1-4-2010 Hit A0
IRl Goft F weBl ot : 3160t ¥ 60,000 T IRIST T 80,000 | S TSt WX 12% Wit o =l
T W A I T SR W 15% Wi a9 6l 5§ S 0 61 (07 foham 1 31-3-2011
T g¢ ad & foe Swie ot gurisHl @ g9 ®H S @ T 12,600 A | 9 % IRE
3TEOT & ST T 2,000 AT SRIST & T 4,000 & | 3TH0T TT 3TST 1 A &1 ot @
VIR BT T4 ST TOrrST i W IR | Y § F1 B 6 qen ¥ ot §S W s o
SR |

Arun and Arora were partners in a firm sharing profits in the ratio of 5 3 Their
fixed capitals on 1-4-2010 were : Arun ¥ 60,000 and Arora ¥ 80,000. They agreed to
allow interest on capital @ 12% p. a. and to charge on drawmgs @ 15% p.a. The
profit of the firm for the year ended 31-3-2011 before all above adjustments were
¥ 12,600..The drawings made by Arun were ¥ 2,000 and by Arora ¥ 4,000 during the
year. Prepare Profit and Loss Appropriation Account of Arun and Arora. Show your
calculations clearly. The interest on capital will be allowed even if the firm incurs
loss.

ﬁmﬁf@aéﬁ%ﬁmﬁmfﬁ ! Tl | Savash TenTen ufaftedt wifso

) T 175 7o ¥ 1,200, 9% FOTTHE 1 e T 100 Tk ¥ 10% AT RO, B 5%
%Wﬁwﬁﬁﬁﬁ%ﬁmw,ﬁqﬁaﬁammw |

(i) ¥ 50 % 19,000, 6% FOTGAT HT W T 100 UdSH * THAT W A URaGd HH
foram | Toa 379 W 5% & Sz o i R o

Pass necessary Journal Entries for the following transactions in the books of N.R. Ltd :

(i) Redeemed 1,200, 9% Debentures of ¥ 175 each by converting into New 10%
Debentures of ¥ 100 each issued at a premium of 5%}

(11) Redeemed 19 OOO 6% Debentures of ¥ 50 each by converting them into Equity

~ Shares of ¥ 100 each. The Equity Shares were issued at a discount of 5%.




(iii) 3RI | TH Hor IS A= F T 5,000 ol AN W TGA F |

(iv) ®HFT 70,500 T gL |

(v) @ it el T TeT B F I Tend g9 | 3 FE & faw @ &1 T 500 W
T fopaT TR | et S Y artass i 3 1,000 o |

mﬁ%w%fm YT Vst wfaftedt s |

A and B were partners in a firm sharing profits in the ratio of 3 : 2. On 31-3-2011
Balance Sheet of the firm was as follows :
Balance Sheet of A & B as on 31-03-2011

Liabilities Am; unt Assets Am;) unt
Capitals : Building 2,40,000
A 3,00,000T Furniture 1,75,000
B 2.00.000 | 5,00,000 | Debtors 80,000
Sundry Creditors 1,17,000 | Stock 75,000
Cash 47,000

6,17,000 6,17,000

The firm was dissolved on 1-4-2011 and the Assets and Liabilities were settled as

follows :

()  Building was taken over by the creditors as their full & final payment.

(i) Furniture was taken over by B for cash payment at 5% less than the book
value.

(iii) Debtors were collected by a debt collection agency at a cost of ? 5 000

(iv) Stock realised .70,500,

v) ‘B agreed to bear all reahza;lon expenses. For this service B is paid < 500.
Actual expenses on realization amounted to ¥ 1,000.

Pass necessary Journal Entries for dissolution of the firm.

14.  31-3-2011 %t GHI T 9 & feTw = St 1 Wit Wi of7Ta @i Ffefiae o 6
31-3-2011 % HATA U AW & A0 ‘=g Forar’ 7 WA U ST @
q| STHT
e ity T
L ! L
T (AT TY) 3,400 | T (8 HEH 24,000
Tar)
=T 21,000 | feremr 3,000
WA Yoh 5,750 | ferstet 2,750
TA (99T & fere 2 1,000 2,100 | AFRT 5,000
Sftwier) keSED 7,500
R 7,550 | 9% =t ST 10,000
‘ (30-6-2010 1) '
fraw =1 fasar (s O 15,400 | 919 (311 & ) 2,950
¥ 16,000)
55,200 55,200
67/1/3 5 [P.T.O.
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I TR W& T @R Q 31-3-2011 % GHI §T Y F A ST qe o W dER
Eai 1l

Following is the ‘Receipts and Payments Account’ of ‘New Club’ for the year ended

31-3-2011;
Receipts and Payments Account of ‘New Club’ for the year ended 31-3-2011
Dr. Cr.
. Amount Amount
Receipts z Payments z
To Balance b/d 3,400 | By Salaries (paid for 8 24,000
months only)
To Subscriptions 21,000 | By Rent 3,000
To Entrance Fee 5,750 | By Electricity 2,750
To Donations  (includes 2,100 | By Honorarium 5,000
T 1,000 for Building) By Books 7,500
To Hall Rent 7,550 | By 9% Fixed Deposits | 10,000
(on 30-6-2010)
To Sale of Investments 15,400 | By Balance ¢/d 2,950
(Book value -
¥ 16,000)
55,200 55,200

From the above ‘Receipts and Payments Account’, prepare an ‘Income and
Expenditure Account’ of ‘New Club’ for the year ended 31-3-2011.

R
.

15. T 1T WESR & 413 : 2 % A H A Sied & 131-3-2011 W 361 Retfer fearor

71 v o -

31 W= 2011 1 ‘@ 991 7 W1 feafer faawor
Uit @ iy g o= 80,000
‘T 60,000 AR 20,000
“p 40,000 1,00,000 | ®HR 10,000
T TN F fIT WreaH 1,000 | =R 25,000
TARR 60,000 | THg 16,000
AT T 10,000
1,61,000 1,61,000

o ) P il & SR 355 T 3 R e T I S
() o faurm o T e 2 : 2 ¢ 1 Fafvea T A
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(i) ‘= T 30,000 3G TST F feAw AR e T 15,000 ©Af & U 90T & few R
(iii) 3TH ¥ =fa H T 9T 3T WRRR A Her o (e s o & a0 @
‘g FHueT | o |
(iv) IRRI O G T WG g & oY 5% T W ST o |
(v) WRRI # afmfad T 500 i TH T H A & HET AT |
(vi) ®H % fa%g T 800 % U &fd % TM& & el Wi & 1 |
SR QUASH! & UvEId @ T T F G @ral B GHESE B H IS 6 SER W
HAT o1, 39% AT aRkfefa STaR g A1 SR STean 3T e foar ST |
T @, WERRT % geit @t 7o =€ & o fegf fyagor far Hif |
Frear

P, P qUT TE TH FH H ARER 4 St A B 7:2:1 % U # fownfea a2 31
AT, 2011 %t &4 &t fefa e e o

31 9T 2011 T AP, T q9T “uw w1 Rerfa-faewor

4 4

| g e 40,000

il 70,000 of o ST 60,000

s 20,000 Tt _ 40,000

TR _ 10,000 1,00,000 | €% 7,000

T GO 20,000 | |R 12,000

& T FT 30,000 | Ubg 5,000
TRR 14,000

1,64,000 : 1,64,000

24 3T 2011 & P B GG & T | Tl ot WHRR H gg W 39w Gt Whed = |+l

grat & Faer & fere et doiw § Frefafed o fa gu €

(i) TP WERR H gg F K 7% STH A F 9 B AT e 7 ant & i oy
% TR WX St TR S T 80,000 T |

(i) wERE % QA aT SARINET % O FreRer § Yo Riqr 3 o g1 5 3,
ﬁiﬁﬂ'ﬁ'ﬂﬂ%‘

i @|r weT W ST T 94,000, WA T T 38,000 T WiE H
X . .1
Z 5,000 femam /= mﬁwaiﬂﬁé?%rqmwzz%wsanMW |
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(i) Traet e St ¥ % Fromees ot <7 off, 3T KT @ § TR FX Al T, e
YA 915 | fopar s |

YA W, ISR o Golt @, “§° % SUESRI 1 @il a2 S e TR H et

TR R ST Frei 21 T @l B AT A ST § W g e S ATe] W@

1 frvea forar € | Rorelt ot enfaer a1 6+t Bt WIRISRT % =] @A ¥ @HFIRG #X KA

ST |

‘B’ and ‘C’ were partners sharing profits in the ratio of 3 : 2. Their Balance Sheet as
on 31-3-2011 was as follows :

Balance Sheet of B and C as on 31-3-2011

Liabilities Amount Assets Amount

(4 L4
Capitals : Land and Building 80,000
‘B’ 60,000 Machinery 1 20,000
‘C _40.,000 1,00,000 | Furniture 10,000
Provision for bad debts 1,000 | Debtors 25,000
Creditors 60,000 | Cash ‘ 16,000
Profit and Loss Account 10,000
1,61,000 | 1,61,000

‘D’ was admitted to the partnership for yéth share in the profits on the following
terms :

(i) The new profit sharing ratio was decided as 2 : 2 : 1.
_

——————

@) D will bring ¥ 30,000 as his capital and ¥ 12,00() for his share of goodwill.

(iit) Half of goodwill amount was withdrawn by the partner who sacrificed his
share of profit in favour of ‘D’.

(iy)- A provision of 5% for bad and doubtful debts was to be maintained.
(v) Anitem of ¥ 500 included in Sundry Creditors was not likely to be paid.
(vi) A provision of ¥ 800 was to be made for claims for damages against the firm.

After making the above adjustments the Capital Accounts of ‘B’ and ‘C’ were to be
adjusted on the basis of D’s Capital. Actual cash was to be brought in or to be paid
off as the case may be.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of the
new firm. ‘

OR

67/1/3 8



x ‘G’, ‘E’ and ‘F’ were partners in a firm sharing profits in the ratio of 7: 2 : 1. The

Balance Sheet of the firm as on 31% March, 2011 was as follows :

Balance Sheet of ‘G’, ‘E’ and ‘F’ as on 31" March, 2011

Amount | Amount
Liabilities Assets
s 7 : 4

Capitals : Goodwill 40,000
‘G 70,000 I;n:& Buildings 60,000
‘E’ 20,000 Machinery 40,000
‘F _10.000 1,00,000 | Stock 7,000
G\eilfgl'ﬂR_efg:ve 20,000 | Debtors 12,000
Loan from ‘F’ 30,000 | Cash © 5,000

Creditors 14,000
1,64,000 1,64,000

‘E’ died on 24™ August 2011. Partnership deed provides for the settlement of claims

on the death of a partner in addition to his capital as under :

(1) The share of profit of deceased partner to be computed upto the date of death
on the basis of average profits of the past three years which was ¥ 80,000.

(i) His share in profit/loss on revaluation of assets and re-assessment of liabilities

which were as follows :

Land and Buildings were revalued at ¥ 94,000, Machinery at ¥ 38,000 and

1
Stock at ¥ 5,000. A provision of 2‘2‘ % was to be created on debtors for bad and

doubtful debts.
(iif) The net amount payable to ‘E’s executors was transferred to his Loan Account,
to be paid later on.
Prepare Revaluation Account, Partner’s Capital Accounts, E’s Executor A/c. and
Balance Sheet of ‘G’ and ‘F’ who decided to continue the business keeping their
capital balances in their new profit sharing ratio. Any surplus or deficit to be

transferred to current accounts of the partners.

67/1/3 9 [P.T.O.



W s

16. vam T A T 10 U= % 80,000 GHeT 39 & A & fow etmaea et 6 | 3 oiwn

&t T 40 9 37w F v ¥ Feifae e o | i & spTam M T @ S A
e W ¥ 35 uta 399 (T 30 Wi afmfe
e W ¥ 8 ufe oiw (% 4 vitaam afimfera)
7o Td A qE W - 9

| 177,000 3 % fAW AR U gU | Wt SMAGH Hl S T A HY ;W | G=A,

5% 7,000 3 1 S fpar @ o, 3 See W H PTAH T HAT | A F R/
Ty SUF A B ST HY AT AT | U] oW Te S arae /el TS | 6o,
e T 500 3w &}, 3 e e ifm AT W T R R | 3ues i ot St
Y forn T | St fopd TR siel & R 1,000 S T 50 Wi W W T R/ P WEW I
e e e T | g i o T ofel W e % wf afw ahef 9

e . 1 et T S o st e e S |

e ,

3 for. 3 T 10 YF F 35,000 FHAT 3 B 10% F I W FHT FE F o0 e
smfera fee | Tf¥r 1 A P TR | e o

EARA W ¥ 5 Wl i

3TEed W T 3 uid W

T T AR e W - o
50,000 39 % feIT 7AW FC 1 8,000 € & iU A I w W Tg@r W A =
TITH I ST AT TG Y S T | Y AATH H S F A HUNF SR T
femar 7T e $ SMAgE! @ SR W W JifaiieRt Ui & guRiS eieed W ow Ui |
X foran T | SieR A 600 ¥ % fAw aasA T or | SEA aMees Uit a9 wu ud
S T TRT B e T R 1 T, S 400 T W AR o1, ¥ woN T b
AT T BT A F&F TR | g o Tl & STl i S oY fordl T | e TR T
e & | 800 ¥ I T 15 Wi 3% qOF Wgw F: Freifrer o e ra

o frifha foRd 2 el & A= % wdt ofw gfufem @ | Swiw s & foe s
&, =t gt W stavae s wfaftedt S |
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Shyam Ltd invited applications for issuing 80,000 Equity Shares of ¥ 10 each at a

premium of ¥ 40 per share. The amount was payable as follows :
On Application T 35 per share (including ¥ 30 Premium)
On Allotment ¥ 8 per share (including ¥ 4 Premium)
On First and Final Call — Balance

Applications for 77,000 shares were received. Shares were allotted to all the

_applicants. Sundram 'io whom 7,000 shares were allotted failed to pay the allotment

67/1/3

money. His shares were forfeited immediately after allotment. Afterwards the first
and final call was made; Satyam the holder of 500 shares failed to pay the first and
final call. His shares were also forfeited. Out of: fhe forfeited shares 1,000 shares
were re-issued at ¥ 50 per share fully paid u;. The re-issued shares included all the

shares of Satyam.
Pass necessary Journal Entries for the above transactions in the books of Shyam Ltd.
OR

Jain Ltd. invited applications for issuing 35,000 Equity Shares of ¥_10 each at a

discount of 10%. The amount was payable as follows :

A~

On Application ¥ 5 per share.
On Allotment ¥ 3 per share ‘
On First and Final Call — Balance

Applications for 50,000 shares were received. Applications for 8,000 shares were
rejected and the ';i:;plication money of these applicants was refunded. Shares were
allotted on pro-rata basis to the remaining applicants and the excess money received
with applications from these applicants was adjusted towards sums due on allotment.
Jeevan who had applied for 600 shares failed to pay allotment and first and final call
money. Naveen the holder of 400 shares failed to pay first and final call money.
Shares of Jeevan and Naveen were forfeited. Of the forfeited 800 shares were
re-issued at X 15 per share fully paid up. The re-issued shares included all the shares

of Naveen.

Pass necessary Journal Entries for the above transactions in the bogks of Jain Ltd.

11 [P.T.O.
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18.

-G
PART-B
(Fersiter faraott @t faveraon

(Financial Statements Analysis)

g YaTE fepaRor T T S T |
State the purpose of preparing a ‘Cash Flow Statement’.

‘o TavrE A R RO % AR & fAT AR e 6 Ushe et feeRer SR
g frm weR wt fafafyy et smam 2

While preparing Cash Flow Statement what type of activity is, ‘Payment of Cash to
acquire Debentures by an Investment company’ ?

ForEranaT & fore feorita faaeon & favaiwur & Hewa &1 Sooi@ =T |

State the significance of Analysis of Financial Statements to the ‘Lenders’.

20, 3N, fol. 1 o] UM 3.5 ¢ 1 qAT ReAar U 2 ¢ 1 ¥ 1 AT =iek gRy watfae #t
/7 e e qetEt qe e amtEt @ e € 1,50,000 Tt o] it @ ]

AT St TUEAT T |
O.M. Ltd. has a Current Ratio of 3.5 : 1 and Quick Ratio of 2 : 1. If the excess of
Current Assets over Quick Assets as represented by Stock is ¥ 1,50,000, calculate
Current Assets and Current Liabilities.

21. Frtataa gaar @ frafataa 3 @ fw= gt sraat o 1T S

_/ (%) FHOL-GHAT U

(@) R ISi STe ST aer
@ ew W yem
[EAT ;. WA S QS T 50,000 ; WERT HEA 5,000 ; GBI @R S T @R %
YT % =% T 15,000 5 9% RO T 20,000 ; TT_R ¥ 15,000 ; 9fiv q@r e T 65,000
TI T 15,000 ; ITIR T 14,500 T WHE T 5,500 ; 379 & e w521 T 5,000 |
31-3-2011 %I 99T g€ 99 & fow faspa T 1,50,000 9#, T 50% |

67/1/3 12




e .

From the following information, calculate any two of the following ratios :
. (@) Debt-Equity Ratio

(b) | Working Capital Turnover Ratio and e

(¢) Return on Investment |

Information : Equity Share Capital ¥ 50,000, General Reserve ¥ 5,000; Profit and
Loss Account after tax and interest ¥ 15,000; 9% Debentures ¥ 20,000; Creditors
¥ 15,000; Land and Building ¥ 65,000; Equipments ¥ 15,000; Debtors ¥ 14,500 and
Cash ¥ 5,500. Discount on issue of shares ¥ 5,000.

Sales for the year ended 31-3-2011 was ¥ 1,50,000. Tax rate 50%.

22, 31-3-2011 &t T fo1. 1 31 feravor g wepwe ot : 4
- T
4
AF
fassa 2,00,000
I A 15,000
T A 2,15,000
h 2 P
) I T WA St AT 1,10,000
pe -
T g 5,000 o,
FA = 1,15,000 |
‘ N ,
ET 40,000

31-3-2011 St T g 99 o foIw IT e, ot s s 1 31 fareror AR i |

67/1/3 13 [P.T.O.




Following is the Income Statement of Raj Ltd. for the year ended 31-3-2011 :

Amount
Particulars
(4
Income :
Sales 2,00,000
Other Incomes 15,000
Total Income , 2,15,000
Expenses :
Cost of goods sold 1,10,000
Operating expenses 5,000
Total Expenses 1,15,000
Tax 40,000

Prepare a common size Income Statement of Raj Ltd. for the year ended 31-3-2011.
mmon S1z¢ ncor

23, 313-2010 791 31-3-2011 Ft W fer, Py Rt Rrskoit § ebe were Foreren %

HINT :
N 31-3-2010 31-3-2011 - 31-3-2010| 31-3-2011
4 4 4 L4

3w g 3,00,000| 4,50,000 | U 37,500 31,250
Cr) 4,50,000{ 4,50,000
A @rar 75,000{ 1,50,000|faw - 56,250
IT/R 1,50,000| 1,91,250
& 07 1,50,000{  75,000|wi% 7,500 11,250
AT ST 60,000  45,000|¥%s 15,000{ 66,250

T A 30,000 52,500 |

AR 45,000| 33,750
6,60,000( 8,06,250 6,60,000| 8,06,250
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Fferfert ga T :

g o T 1,50,000 % Y&TH T & 9o &1 fasha T 6,000 Sl &1 T fofam a1 | weH W
% 16,000 1 He §T9 T TR |

From the following Balance Sheets of C.P. Ltd as on 31-3-2010 and 31-3-2011

prepare a Cash Flow Statement.

31-3-2010] 31-3-2011 31-3-2010| 31-3-2011
Liabilities Assets
T 4 T 4
Share Capital 3,00,000| 4,50,000|Patents 37,500 31,256
| Building 4,50,0001 4,50,000
Profit & Loss 75,000] 1,50,000}Investments - 56,250
/| Account Debtors 1,50,000| 1,91,250
Bank Loan 1,50,000 75,000] Stock 7,500 11,256
Proposed Dividend 60,000 45,000 Cash 15,000 66,250
 Provision for tax 30,000 52,500
Creditors 45,000 33,750
6,60,000| 8,06,250 6,60,000| 8,06,250

Additional Information :

During the year building having book value ¥ 1,50,000 was sold at a loss of ¥ 6,000.

Depreciation charged on Building was ¥ 16,000.

WAT -7
PART - C

(i wrEis)

(Computerised Accounting)

17. & @R i eTEfed i § ToH 37 6 T AW & 2
‘What is meant by the first digit in the ‘code’ allotted to an ‘Account’ ?

18.  # 3TFd (7o) ARG FTE 2
What is #Null Error ?

67/1/3
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19.

20.

21.

22.

23.

67/1/3

HUZ Bl T FAUE i H TEAAT HAT & ? 1

How does the usage of computers help the business ?

SRR TR GRAIT & =] T Tl ol THEST | 3

Explain any three features of Computerized Accounting Software.

2t o o T T & 7 T A O G | 4

What is DBMS ? Explain its three advantages.

Tk TG § wHEiEl o 3 W St o A % fag Rt & = @ et 4

Write the steps of a query to compute D.A. for employees in Microsoft Access.

() ﬁm%ﬁaamﬁwqﬁﬁrﬁaﬁmmwﬁ%%qqa@awqﬂﬁaﬁm
FIT |

T 45,000 F g A TH20% HI A H;
T 45,000 ¥ 37fies =t TR W25% T H |
(I e =, W waiftr)
(@ TRE % 39 foriia FE & AW TqR U GHeNET e 3T 3 satEt & we
it san i T 3 ferg e T & | 24426

(a) Calculate the formula from the following information on Excel for computing
the amount of conveyance allowance. Basic salary up to ¥ 45,000 @ 20%, for

more than ¥ 45,000 @ 25% (Basic salary is projected in C,)

(b) Name and explain the financial function of Excel which is used to calculate

cumulative interest paid between two periods.
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